Bap. 1 (6907)

log, (3z—9
. Pemmnre HepaBencTBO 084 (32 -9) 4

log,(2z+9) ~ *°
. logg3 = a. Bripasure Tepes

—logy 75 — 2log, 75 — 2log,5 27.
. Cpasuure /log;, 11 u log;, v/ 110.

. Ha#imure log,, 2, ecm log,, 5 = a, log,g2 = b.

. Permure HepaBercTBO

Bap. 2 (6907)
log, (3z—3)
Tog(a18) S 1

. logg2 = a. Bripasure Tepes

—logs 50 + 21og, 800 + 21ogy 5.

. Cpauure log; s % u logg 13.
. Haiimure log,; 105, ecau log;5 7 = a, log;y5 35 = b.

Bap. 3 (6907)

logs(32—6)
. Pemmre HepaBeHCTBO Togs (2046) < 1.
. logg3 = a. Bripasute gepes

—2log; 405 + log; 405 + log, 5 5.
. CpaBuure (/log;5 13 u log;5 v/ 156.

. Hainure logs, 3, ecnu logg 2 = a, log55 = b.

Bap. 4 (6907)

log, (3z—5)
. Pemmre HepaBeHCTBO Tog s (2276) < 1.
. logg2 = a. Bripasure gepes

—2logy 10 + log, 400 — 21log;( 5.

. Cpasuure (/log;; 12 u log;; v132.

. Haimure log,, 21, ecnu logg 21 = a, log,, 2 = b.

Bap. 5 (6907)

log, (33—9
. Pemmre mepasencto 288329 1

logs (22+8)
. logs2 = a. Bripasute uepes

—log; 108 + 2log, 144 + 2logg 2.
. Cpapuute logg 13 u log; 4 182
. Hasimure log,, 7, ecnu logss 2 = a, logy 5 = b.

. Pemmmre nepaBencTso

. Cpasuure logg 13 u logy
. Haimure logy; 3, ecnu log, 3 = a, logg 2 = b.

Bap. 6 (6907)
log; (22 —8)
Togs(w—3) < -

.logg2 = a. Bripasute Tepes

2logs 250 — log, 800 + 21og, 16.
169
ol

Bap. 7 (6907)

log, (6—3x)
. Pemmre HepaBeHcTBO Togs(5-22) < 1.
. logg2 = a. Bripasute uepes

logs 10 — 21og, 500 + logy, 16.
. Cpasrurte logg % u logg 5.
. Haisinure logg 3, ecnu log;, 3 = a, log;5 5 =b.

. Permure HepaBercTBO

Bap. 8 (6907)
logs (22+7)
logi,(z—&-S) <L

. logy,3 = a. Bripasute uepes

2log, 432 — log5 972 + 2logg 2.

. Cpasnure 4/log, 12 u log, v/84.

. Hainure log,s 7, ecnu logy; 5 = a, logss 3 = b.

Bap. 9 (6907)

log, (2z-+4
. Peumre mepasencTro 2822244

log, (z+7)
. logs5 = a. Bripazure uepes

—2logs 75 — logs 45 — log 5 27.
. Cpasrurte log; % u 1og§3 9.
. Hasimure log,, 5, ecnu log5 2 = a, logg 3 = b.

Bap. 10 (6907)

logs(22—2)
. Pemmre nepasencTso Toy (@ F3) < 1.
. logg3 = a. Bripazure uepes

logs 75 — 2logs 375 + 2log, 5 125.

. Cpasuure logs v21 u /logs 7.

. Haiimure logs, 6, ecmu log5 30 = a, log,( 3 = b.

Bap. 11 (6907)

log, (327
. Permre mepasencTro 28282-1 <

log, (224+6) ~ ©°
. logyb = a. Bripasure Tepes

2log, 400 — logs 40 + 21og; 16.

. Cpasnnre log3 13 u log, 12ﬁ.
. Ha#mure log,, 10, ecrmm logy, 10 = a, log,y 35 = 0.

. Pemmmmre nepaBencTso

Bap. 12 (6907)

log, (3z—3)
logj(2z+5) <L

. logs2 = a. Broipasute Tepes

—logs 432 — 2log, 36 + logg 9.

. Cpasuure logg V72 u /logg 9.

. Haiinure log,, 5, eciu log,, 70 = a, logss 70 = b.

Bap. 13 (6907)

log, (3349
. Pemmre mepaserctpo 284379

log, (z+6)
. logs3 = a. Bripasute Tepes

—log; 405 4 2logs 15 + 21og; 5 3.
. Cpasnure logs % u log3 2.
. Haiinure logg 3, ecu logy, 42 = a, log, 7 = b.

. Pemmrre nepaBencTBO

Bap. 14 (6907)

log, (3z—4)
logz(2z+9) < L

. logg2 = a. Bripasute aepes

—log; 18 + 2log, 864 — 21logg 2.

. Cpasuure log, % u logg 4.
. Hanure log,, 7, ecu log,, 70 = a, log,; 35 = b.

Bap. 15 (6907)

log, (3z—6)
. Pemmure mepaBencTBo Tog. (2276) < 1.
. logyb = a. Bripasure uepes

—2log, 40 + logs 10 + 21og; 5.
. Cpasuure log, % n 10g§1 6.
. Haimure log,, 35, ecnu log,, 70 = a, log,, 14 = b.

. Pemmrre nepaBencTso

Bap. 16 (6907)

logs (32+8)
Togs(etn) < 1-

. logg3 = a. Bripasure uepes

logs 405 + 21ogs 405 + log 5 243.

. CpaBauTe log%3 6 u log5 %
. Haimure log,( 5, ecnu logg 3 = a, logsy 2 = b.

Bap. 17 (6907)

log, (228
. Pemmre nepaserncreo 281(22=8)

log, (v73) <~ 1°
. logg2 = a. Bripasure uepes

2logs 500 — 21og, 40 — log, 5.
. Cpasuure log; % u logl, 7.
. Haiinure log,; 105, ecnu logss 3 = a, logy; 105 = D.

. Permure HepasercTBO

Bap. 18 (6907)
log, (22—9)

Toga(e—3) < 1"

. logg3 = a. Bripasute Tepes

2logs 75 — 2log, 405 + log 5 243.

. Cpasnure log, % u logg 7.
. Haimure log;5 5, ecmu log g5 7 = a, logy; 15 = b.

Bap. 19 (6907)

log, (2a+3
. Pemmre nepasencreo 28a(22H3)

log, (z4+9) =
. log;b = a. Bripasute aepes

—2logs 225 — logy 135 + 2log 5 81.
. Cpasuure log;, % u log,; 10.
. Hamnure logss 21, ecnu log o5 5 = a, logy; 3 = b.

. Pemnre nepaBencTBo

Bap. 20 (6907)

logs (3z—2)
logss(a:+6) <1

. logs3 = a. Bripasute aepes

logs 45 + 2logs 375 + 2log; 5 5.

. Cpasuure logs; 4 u log, ?
. Hannure logy,, 7, ecnu logss 7 = a, log 4, 7 = b.




Bap. 21 (6907)

Bap. 22 (6907)

1. Pemmte HEpaBEeHCTBO 122287;:23 < 1. 1. Pemmnte HEpaBEeHCTBO % < 1.
2. logs3 = a. Bripasure uepes a: | 2. logs2 = a. Bripasure uepes a:
—log, 36 — logs 432 + logg 32. — logs 800 + log, 40 + log; o 32.
3. Cpasunre logy; 22 u log?, 13. 3. Cpasmute logs, 11 u log;, %.
4. Hannure log,, 2, ecnin logg 3 = a, logy; 2 = 0. 4. Haiinure logy; 3, ecnn log, 5 5 = a, logss 105 = b.
Bap. 23 (6907) Bap. 24 (6907)
log, (32—8) log, (3z+1)
1. Pemrure HepaBeHCTBO bgzﬁixﬂ) <1 1. Pemrute HepaBeHCTBO m < 1.
2. logs2 = a. Bripasute Tepes a: | 2. logyd = a. Bripasute Tepes a:
— log; 80 — 2log, 20 — log, 5. log, 200 — logs 800 — 21log,, S.
3. Cpasuure logg ‘3—76 u log; 6. 3. Cpasuure loggy % u logg 9.
4. Haiinure logss 2, ecmu log,y 7 = a, log;, 5 = b. 4. Haiinure log,, 7, ecrmu logy, 42 = a, logg 3 = b.
Bap. 25 (6907) Bap. 26 (6907)
1. Pemmre mHepaBeHCTBO % <1 1. PemmTe HepaBeHCTBO % <1
2. logs3 = a. Bripasure uepes a: | 2. logs 2 = a. Bripasute uepes a: logs 288 — 2log, 6 — logg 2.
—logy 75 — logs 15 — log; 5 125. 3. Cpasuure logg v66 u /logg 11.
3. Cpasuure log,; 9 u log, %. 4. Haiinure log,, 7, ecau log,, 14 = a, logss 70 = b.
4. Hannure logy; 3, ecnnt log,5 3 = a, logss 105 = b.
Bap. 27 (6907) Bap. 28 (6907)
1. PemmTe HEpaBEHCTBO 1105555((275;31)) <1 1. Pemmre HepaBeHCTBO }ziz?legg <1
2. logs3 = a. Bripasure Tepe3 a: | 2. logsb = a. Bripasure qepe3 a:
logys 675 + 2logs 75 — 2log 5 25. —2logs 135 + 2logs 675 — log 5 81.
3. Cpasuure logg 3 u log, %. 3. Cpasuure logs % u logg 2.
4. Haiinure log,, 5, ecin log,o 7 = a, logss 70 = b. 4. Haiinure logy; 3, ecnu log,s 7 = a, log, 7 = 0.
Bap. 29 (6907) Bap. 30 (6907)
1. PemmTe HEpaBEHCTBO }ziggiii;g <1 1. PemmTe HEpaBEHCTBO % <L
2. logs3 = a. Bripasure gepes a: | 2. logy 3 = a. Bripasute uepes a: log, 12 —logs 162 —logg 243.
—2logs 15 — logs 45 — log; 5 81. 3. Cpasuure log; 10 u log; %.
3. Cpasuure logg 11 u logs 1?. 4. Haiinure log,, 2, ecnn log,o 5 = a, logss 70 = b.
4. Haiinure log,, 35, ecnu log, 35 = a, logss 14 = b.
Bap. 31 (6907) Bap. 32 (6907)
1. Pemmnte HEpaBEHCTBO % <1 1. Pemmnte HEpaBEHCTBO % <1
2. logz2 = a. Bripasute Tepes a: | 2. logs3 = a. Bripasute Tepes a:
—2logs 216 4 2log, 108 + logg 243. 2logy 405 + 21og; 45 — 21og; 5 625.
3. Cpasuure log, v/6 u /log, 3. 3. Cpasrute log] 3 n log, %.
4. Haiinure logg 7, ecnu log,4 2 = a, logy; 3 = b. 4. Hannure log, 6, ecin log,, 15 = a, logs; 3 = b.
Bap. 33 (6907) Bap. 34 (6907)
1. PemmTe HepaBeHCTBO izif% <L 1. PemmTe mHepaBeHCTBO izi;&% <L
2. logz2 = a. Bripazure uepe3 a: | 2. logs5 = a. Bripazure uepe3 a:
—log 486 + log, 972 + logg 81. 2logs 15 — 21ogy 405 — 21og,5 25.
3. Cpasuute log, v10 u 4/logs 5. 3. Cpasuure log; v91 u /log, 13.
4. Haiinure log,, 5, ecnu log; 5 105 = a, logss 105 = b. 4. Haiinure logg 3, ecnu log 4 2 = a, log,y 2 = b.
Bap. 35 (6907) Bap. 36 (6907)
1. Pemmre HEpaBeHCTBO % < 1. 1. Pemmre HepaBeHCTBO % < 1.
2. logg3 = a. Bripasure Tepe3 a: | 2. logy3 = a. Bripasure Tepes a:
—2logs 75 — logs 15 — 2log 5 81. —2log, 288 4 logs 72 — 2log 81.
3. Cpasuure logs 4 u log, 15—6. 3. Cpasunre +/log, 13 u log, v91.
4. Hatinure log,, 5, ecanu log;, 5 = a, logss 5 = b. 4. Haiinure log,, 15, ecim log g5 5 = a, logy; 35 = b.
Bap. 37 (6907) Bap. 38 (6907)
1. PemmTe HEpaBEHCTBO 1;)(5;5((2%52)) <1 1. PemmTe HEpaBEHCTBO % <1
2. logs 2 = a. Bripasutre uepes a: logs 800—2log, 40—log;, 8. | 2. logsb = a. Bripasure qepe3 a:
3. Cpasuute logg % n logg 9. logs 225 + 2logs 15 — 2log; 5 3.
4. Haiinure log,5 30, ecnu logs, 6 = a, log;q3 = 0. 3. Cpasunte log; 2 n logs 5.
4. Hatinure log5 7, ecnu logy; 5 = a, log;g5 3 = .
Bap. 39 (6907) Bap. 40 (6907)
1. Pemmnte HEpaBEeHCTBO % < 1. 1. Pemmnte HEpaBEeHCTBO % < 1.
2. logs3 = a. Bripasure uepes a: | 2. logs5 = a. Bripasure Tepes a:
—logs 225 — log; 405 + log,5 27. 2logs 375 — 2log; 135 + log; 5 81.
3. Cpasuure log; 13 u log; @. 3. Cpasuure logs % u logs 5.
4. Haiinure log5 5, ecru log5 3 = a, logy; 3 = 0. 4. Haiinure logss 15, eciu loggs 15 = a, log 521 = b.




Bap. 41 (6907)

Bap. 42 (6907)

1. Pemmte HEpaBEeHCTBO 122287;::3 <1 1. Pemmnte HEpaBEeHCTBO % <1
2. logs 5 = a. Bripasure uepes a: | 2. logs 2 = a. Bripasute uepes a: 2logs 20 + log, 20 + log, 8.
log, 250 + logs 40 — 21og;, 16. 3. Cpasmurte log;; 1% 1 log?, 10.
3. Cpasuure log, v 14 u /log, 7. 4. Hatinure logy, 3, ecnu logy, 7 = a, log 4 2 = b.
4. Haiinure logy, 105, ecnu logss 105 = a, log,5 105 = b.
Bap. 43 (6907) Bap. 44 (6907)
1. PemmTe HEPaBEHCTBO % < 1 1. PemmTe HEPaBEHCTBO igiﬂ% < 1.
2. logs5 = a. Bripasure gepes a: | 2. logs2 = a. Bripasure gepes a:
logs 45 + 21ogs 375 — 21og 5 625. —logs 40 — log, 500 — log; 16.
3. Cpasuure logs v21 u /logs 7. 3. Cpasaute +/log, 3 u log, V/6.
4. Haiinure log,, 70, ecm log,, 70 = a, logss 2 = b. 4. Haiinure logss 105, ecim logy, 105 = a, log g5 7 = b.
Bap. 45 (6907) Bap. 46 (6907)
1. PemmmTe HEpaBEHCTBO % <L 1. PemmTe HEpaBEHCTBO Eiﬁ% <L
2. logy,b = a. Bripasure Tepe3 a: | 2. logs2 = a. Bripasute Tepes a:
—log, 40 — logs 100 — 21og; 5. —2logs 80 — log, 400 + log,( 125.
3. Cpasuure logg 10 u log;, %. 3. Cpasuure logg % u 1ogg 10.
4. Haiinure logg 15, ecau logs, 2 = a, log;5 5 = b. 4. Haiinure log,, 2, ecau log;, 2 = a, logg2 = b.
Bap. 47 (6907) Bap. 48 (6907)
1. Permure HEpaBEHCTBO }ggigiz:ig < 1. 1. Perure HEpaBEHCTBO 122;152;;:% < 1.
2. logs3 = a. Bripasure uepes a: | 2. logs2 = a. Bripasure uepes a:
logy 75 — 21ogs 375 — log 5 243. 2logs 100 — 21og, 40 + 21og;, 8.
3. Cpasuure logg % u logs 8. 3. Cpasrure log2 3 u log, 2.
4. Haminure log, s 15, ecnm logy, 105 = a, logss 3 = b. 4. Hannure log, 6, ecin logs, 10 = a, log;5 10 = b.
Bap. 49 (6907) Bap. 50 (6907)
1. PemmTe HepaBeHCTBO % <1. 1. PemmTe HepaBeHCTBO 1;)5;3((37;;66)) <1.
2. logs2 = a. Bripasute aepes a: | 2. logyd = a. Bripasute aepes a:
—2log; 100 + 2log, 250 — log, 32. —log, 40 — log; 160 — 2log,, 25.
3. Cpasuure log % u log;, 11. 3. Cpasuure log, 7 u log, %.
4. Haitnure log,, 42, ecnu logy, 3 = a, logg 2 = b. 4. Haiinure log,5 5, eciu logg 3 = a, log;, 30 = b.
Bap. 51 (6907) Bap. 52 (6907)
log, (3z—2) log, (3z+7)
1. Pemure HEpaBEHCTBO gii(T-m) < 1. 1. Pemure HEpaBEHCTBO lziz@iw-%) < 1.
2. logs2 = a. Bripasure uepes a: | 2. logy 5 = a. Bripasute uepes a: log, 80 —logs 160+ 1og; 25.
—2logs 400 + log, 500 — log, 25. 3. Cpasuure logg 7 u log, %.
3. Cpasunre log3 7 u log, %9. 4. Haiinure logg 10, ecru logsg 5 = a, log;56 = b.
4. Hatinure logs, 15, ecnu log5 5 = a, log;56 = .
Bap. 53 (6907) Bap. 54 (6907)
1. Pemure HEpaBEHCTBO % <1 1. Pemmre HEpaBEHCTBO % <1
2. logs3 = a. Bripasute uepes a: | 2. logyd = a. Bripasute uepes a:
—2logy 75 — 2logs 45 + log 5 243. —2log, 162 — log; 648 — logg 81.
3. Cpasuute log, % u log; 12. 3. Cpasuure 4/log; 12 u log, v/84.
4. Haiinure logg 7, ecnu logy; 3 = a, log 4, 7 =b. 4. Haiinure log,, 6, ecnu logy; 3 = a, log, 7 = 0.
Bap. 55 (6907) Bap. 56 (6907)
1. Pemmte HEpaBEeHCTBO 1?5;3(?7;__51)) <1 1. Pemmte HEpaBEeHCTBO % < 1.
2. log, 5 = a. Bripasute uepes a: log, 500 —logs 100+1og 2. | 2. logs3 = a. Bripasute uepes a:
3. Cpasuure logs 9 u logg 85—1. logy 375 — 2logs 225 — log 5 25.
4. Haiinure log,, 6, ecnu logg 3 = a, logg 14 = b. 3. Cpasnure logg 3 u log, %.
4. Hannure logy; 3, ecin log,, 42 = a, logg 2 = b.
Bap. 57 (6907) Bap. 58 (6907)
1. Pemmnte HepaBeHCTBO iggj‘f% < 1. 1. Pemnte HepaBeHCTBO 1;35;1((27;;3 < 1.
2. logs 2 = a. Bripasutre uepes a: logs 50—log, 800—21log;( 5. | 2. logyd = a. Bripasute aepes a:
3. Cpasuute logg %4 u log, 8. —log, 500 — 2logs 10 — log 4.
4. Haiinnre log, 5, ecnu logg 2 = a, logsy 2 = b. 3. Cpasunte log, 3 u logs 2.
4. Haiinure log, (5 35, ecnu log5 3 = a, logy; 3 = 0.
Bap. 59 (6907) Bap. 60 (6907)
1. P logs (22+42) <1 1. P logs(32+43) 1
- Pemmre mepasenctso 12T < - Pemmrre mepasencrso oty < 1
2. logs3 = a. Bripazure uepes a: | 2. logy3 = a. Bripazure uepes a:
—2logs 675 + log; 135 + log, 5 243. 2log, 324 + 2logs 144 + logg 9.
3. Cpasuute /log;; 12 u log,; vV 132. 3. Cpasuure logg v 104 u /logg 13.
4. Haninure log,, 21, ecnu logyy 2 = a, logg 21 = b. 4. Hannure logy, 21, ecnu logg 42 = a, log,, 42 = b.




